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PART A : Reading Comprehension

Directions : Read the following passages and choose the number of the answer chice
that is the best answer to each question.Then mark your answer sheet.

Passage 1

Painful sensations depend much also upon the state of the nervous system, varying according to
the power of the nerves to conduct, and of the brain to receive, impressions. Some people are
notoriously better at bearing pain than others , and the healthy and strong are less affected by
trivial injuries than those whose nervous system is in a state of ready irritability through chronic
ill- health. People with strong will — power can undoubtedly inhibit painful impressions, like
those from a surgical operation , just as they can control irregular movements. Thus by a mental
effort not only do such people bear pain better. But they actually feel less pain. Similarly the so
that they gain no entrance for the time, as in the case of soldiers wounded in the heat of battle.
On the other hand , pain may be of a purely functional character , and a person may suffer pain
without any external cause, the main misinterpreting or exaggerating sensations.

41- the nervous systems.......... In conveying or perceiving painful sensations.
1) follow similar patterns 2) tend to function variably

3) can serve as initiators 4) work as intensifiers

42- Mental engagement............. .

1) is independent of painful impressions
2) can enhance pain endurance ability
3) fail to affect pain perception ability
4) is used to prolong painful sensations
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43- According to the text, soldiers wounded in the battlefield........ .
1) overcome painful impressions

2) are prone to painful impressions

3) eliminate their sense of pain

4) are psychologically allergic to pain

44- pain with no external stimuli can be rooted in mental ........ of sensations.
1) inhibition 2)intensification

3)repression 4) evaluation

PASSAGE 2

Hypnosis is a state allied to sleep; it may be called an artificial sleep by the personal influence of
the hypnotizer. Some authors refuse to regard hypnosis as allied to sleep on the ground that
subjects in hypnosis are lively , walk and talk, and observe the world about them with all their
senses. If one merely induces deep hypnosis and leaves the patient alone, the resemblance of
hypnosis to normal sleep is very close. He then lies inert in a condition distinguishable from
sleep only in one way, namely, in that he continues for some time to be responsive to the
operator in a quite peculiar manner indicated by the word rapport. But if the patient is left to
himself, this peculiarity passes away gradually, and the condition becomes indistinguishable
from normal sleep; the patient will then continue to sleep for some little time and waken
spontaneously as from normal sleep. One essential problem of hypnosis is , then nature of this
rapport; and problem is one of extreme interests.

45- Many scientists..... links between sleep and hypnosis.

1) acknowledge the existence of numerous

2) have openly refuted the existence of any

3) have already demonstrated full

4) seem to have just started working on.

46- Hypnosis may be comparable to sleep when the person under the strong influence of

hypnosis is ........c...... .

1) previously informed 2) actively responding

3) left alone 4) observed carefully

47- The word "' rapport" ( line 8) describes the state in which the patient s .......... .
1) strangely distinguishable 2) peculiarly responsive

3) lively and observant 4) in deep sleep

48- if the patient under the influence of hypnosis is left to himself , the .......
1) rapport will gradually vanish 2) patient will soon waken

3) patient will pass away 4) rapport will intensify

49- The best title for this passage could be ............ .

1) artificial sleep 2) spontaneous sleep

3) the induction of hypnosis 4) the border between hypnosis and sleep

Part tow: Vocabulary

Directions: The following are incomplete sentences. Below each one are four words or phrases
marked, (1), (2), (3), or (4). Choose the one word or phrase which best completes the sentence
50- In some Western societies approximately one in five male .... To acute medical wards
are directly or indirectly due to alcohol.(4 <)

1) admissions 2)receptions 3)applications 4)submissions
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51- Since the pattern of health care in a society is such a (n)..... part of it, some would
argue that as individual doctors we can do nothing about it.(4 s5w)

1) fragmentary2)integral 3)statistical  4)truthful

52-Despite modern medicine, which has received huge....of cash, longevity has failed to
increase significantly. (43 &)

1) convictions 2)convulsions 3)injections  4)instances

53- Like the appendix, the spleen seems to be .... Because hundreds of people continue to
live perfectly well after spleens have been removed. (43 séu)

I)conceivable 2) sustainable

3)exposable 4)disposable

54- A knowledge of the drugs the patients is taking can be ..... to the surgeon if he has to
have an operation. (4 <)

1) crucial 2) negligible 3) trivial 4)incredible

55- The doctor warned the women that her problem was ............. Her work; so she was
advised to change her job. (Y« sis)

1) independent of 2) attributable to 3) distinctive of 4) irrelevant to

56- No family ever pays for treatments ........ by insurance, and families without insurance
are always asked to pay.(t i)

1) agreed 2) conferred 3) made 4) covered

57- Today there is a general tendency among...... toward interesting methods which
develop the reasoning capacities.(4 <)

1) educationists 2) conventionalists ~ 3) neurosurgeons 4)conservatives

58-As for stimuli to work, many writers have emphasized fear of punishment and hope
of......... (o)

1) honour 2) reward 3) prize 4) pleasure

59-Abnormal vision and hearing can lead to ........... awareness and interaction with the
environment and other people. (d 5i)

1) vanished 2) replenished 3) banished 4) diminished

60- Some genes are ........ to the development of immune cells without which the immunity
system malfunctions. (f sis)
1) crucial 2) controversial 3) provisional 4) temporal
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